Chp 3: Trvase Funclions

3.1 Exponeatial Funchions
An exponanlial fastion is o fn of Hhe form £()=0 whee o is o positive conchon.

Thn: T€ 070 and a %1, Hoay flx)z0" is cmhhmfn wf domain R ond range (0,%0), T perbicaler; 020 fov all x,
I‘ Q,b’O on‘ X,,‘R Mx
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TFa7l, Yy ko =00 odd ,L o'=0
If °‘a‘| Phen lima*20 and k% 0=
e-'..(m)"‘a-m
Ndn\upmh\ funchion is y =€,
£0)2e" is a continuos fn v/ dowain R { ronge (0,00). Thas €20 B all x. Ao Bm.c*20 and B¢’z 00, 50 M x-axis is
o horizental osgphle of £ e

3.2 Tuvese Funchios ad i
A 0 £is oe-lo-one linjeddive) if x,2x, 2 f(x) 2£(x,).
"mwNLMM’Ale’m b-ome IFFOO"'OM!‘ hMMMib”mhm
Lek £:A=B be o mme-Iv-oue Fa. Ten its invine fantion £7:B2A is defined by W)= X&Mﬂ.
Convelabion Equations: VeeA, £-(F(x)=x, and VB, $(F"(x))=x.
How dv Find invese: Solve y f(t)hrx,)knmhelu,u‘
Thw: IP#.umb-mwhmwﬁo }‘mésmm‘?'»n‘wm" :
Tt IP Fis 0 one~hr-ons fFbla fr w/ inveac P and F15 W) 20, Jh»'f i diffble ot o and () )= it
The m“\MR-Mn wf base a iy lo? , dcbindd by ‘og.x.‘\’ @‘ 2x,
Vxe (a’) x, and Vx70, al9¥ =y,
log o}ﬁm ';)am\w R, m\sbunl'
Laws I Xiywe pn“m,
')'ﬂs-*,s) =logx+logey

b)) a( - [
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TFa7l, fien !.'."‘.'l x-o-ml i log X% =00,
The udm\lqmlln lm-]q.x is dehined by hyzy &0 2x.
Vo, \nle) 3% and ¥x20, &'*=x, lm"? J
M o Buse Formds: Va70 a2, we hae Iog.xﬂﬂf.

33 Derivalives of Log § Exp Punidins

The: The Fa )= lvg.x is diff°ble and #6d+= %'Q.G “xino.

4 0nx) =% = & Qnlxl).

Sloms in Log Difwcalinhine:
1) Tahe makwel logs of both sides of y=8x) and we P lawss of logs do simplify.
) DiPfwanbinle implivitly wrnt x.




1) 5o for g
Tim: P =0 020 is difF ble, snd (o) za" Ina.
- O P

4 Exgomsabial Guorcth and Decay

Lo of Naburel Guonth/Docay: TF y(k) is the vabae of o af Fime + and & is proportional to o), Hhen 51 =y,
Thim: The only sohatine of Jiﬂgﬂﬁg m“\z exporslinl Fus )= g™, ’

Relakivs grwth b of a pop is #5:.

Neokon's Lias of Cooking: 45 =k (T-T,) whoa TU) is dop of duck ok dime 4+ and Ts is Jump of swroundings

35 Tavose Tria Funchions

mmxssih..ngwsm,:x ad "!’69 9%.

sin ' (Sinx) = for 16X 2% and sinloin'x) 2x for Jexs),
$oin )= 1, -dexel,

orcLosy :w"xss awsxaml 093 <HR,

o8 (cosw) = x For 05 %61 and cos(ees'x) =x Por -Jo x|,
Alw)=-glo, - exel,

orclony = ban'x 2y ah-qsx and -!‘,l-g,
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es¢ w2y Uslzl) @ csey =x and 4 (0, 3wl %],
Se X Yy (7] Zl)@suq =X and 99[0, ) U[ﬂ, )]

co} =y (x6[R)E coly = and y6(0, 1),
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3.7 Tadeherminale Fovms & L il Rule

UhesphabyRate: T6 150 =8 o BB s 2 fhen 1P Pigane P ble and 900) 20, Hhua i3 56832 Jia £63



